Ti%ﬁ%ﬁ’&ﬁ’i( SEFEL a B |y & & pE®

A 25 07 13 31 41 70
> REMBBEDREL (1) B 1 21 5 13 12 300
> ABOEEE A~D AH3 C 0.6 4.2 2.5 51 0.8 50
> SEDBG a~e h\b D 22 16 15 0 12 150

> BRERFIEAMERTDAE  axRRME) 52 64 32 46 38
BondxESR aAXAMIERDEY
> ERWEBEEZE-L, OXAMR/NLGAEBROEREZXHNY =LY

b=(b1 bz b3 b4)

=R : Sp = = (70 300 50 150
> BElEEoER b EgEE | 00 2% 1)
> T x, ... Bmmi DERE (BfI) =(52 64 32 46 38)
> BEANTERIV|x = (xp x5 X3 Xy X5) G117 Q12 0G33 G4 035
A — Az1 Udpp A3 (A4 djg
. . - _ 31 d3p d3z3 dA34 dzg
> it A D FE b (R#ZRED) Qa1 G4z Q43 Qag Qs
> BRBEEERTREAIML b e> 07 15 54 4t
s S 111 21 5 13 12

> SRAXRBRERI ZREITI A 23 16 15 0 12




b= (by by, b3 by)

B = — o = c=(C1 C2 C3 C4 Cs)

> iEib BB D E L (R2FREE) =(52 64 32 46 38)
min. 52x ,+64x,+32x; +46x +38x; 11 @12 13 G4 Q15
. t. 2.5x+0.7x,+1.3x5;43. 1,44, 1x5 =70 | o — [ %21 %22 @23 CG2a  Gos
1x 4 21x,+ Sxs+ 13x,+12x,=300 31 @3z G33 O3¢ O3
0.6x +4.2x,42.5x,45.1x,+0.8x, = 50 “451 Q42 Qas “fét 4“145
23x,+ 16x,+ 15x;+ Ox,+ 12x,=150 21'1 317 153 31'3 1'2
X Xp Xy Xpp X5 = 0 ~lo6 42 25 51 08
23 16 15 0 12

> iEEEREDER L (TFREE)

mmZ] 1 CiXj
s.t. Yo ax; 2 bi(i=1,..,4)
>0(G=1,..,5)



How to use CPLEX?

> | TAS IR DIERL
@D [F7AILE)]—FRFRN)]—[OPLTAY M %EER
@ [ xzHb&] FEEA (Bl : Nutrients) L, 3AFRFIZFIVIT S

%] -‘rzvr)w@%ﬂ%m@ﬁhu S
4 ETIL DR EHCROMBEERTSELTL
@ F—aDER ZOBHHMBEEIAELY

Q@ [TV

> JAVDIIORADI DI DERIZER
v [#&Rk1] — [configl] X HARBEZEEICEBLEVWEETHIS—IZHS
v BT )L 74 )L [Nutrients.mod] — [nt.mod]
v T—A32774 )L [Nutrients.dat] — [ntex1.dat]

> BETILIF7AIL-T—3T77AI)IVEEB LIRTF (RR—IUSHR)
> [configlICET IV IFAINET—E3T74ILEYRT S



How to use CPLEX?

» nt.mod

int 1 max
int j max

ol REBRHY
.../ BR#E

=

c.i_max;// REZRESDEHE
..j_max;// BEmESDEHHEA

range I
range J

=

float a[I,J] = ...;// EERIBEMUHIYDERERERE=E

float c[J] = ...;// {FEHLIEMH-YDERLHO)—
float b[I] = ...;// BXREZFDERWE=

dvar float+ x[J];// Bdmj DEIR=EGFR)

minimize
sum(j in J) c[J]*x[3];
subject to {
forall(i in I) {
sum(j in J) a[i,j]*x[J] >= b[1i];
}
}



How to use CPLEX?

» ntex1.dat
i max = 4;
j_max = 5;

C
b

[52 64 32 46 38];
[70 300 50 150];

a = [

(2.5 0.7 1.3 3.1 4.1]
(11 21 5 13 12]

0.6 4.2 2.5 5.1 0.8]
23 16 15 0 12]

15




How to use CPLEX?

>

//
//
//
//
//
//
//
//
//
//
//

HERROEZE (127 0H5) B E(E

solution (optimal) with objective 960.810287123481
Quality There are no bound infeasibilities.
There are no reduced-cost infeasibilities.
Max. unscaled (scaled) Ax-b resid.

Max. unscaled (scaled) c-B'pi resid.

Max. unscaled (scaled) |x|

Max. unscaled (scaled) |[slack]

Max. unscaled (scaled) |pi|

Max. unscaled (scaled) |red-cost|

Condition number of scaled basis

2.84217e-14 (1.77636e-15)
7.10543e-15 (7.10543e-15)
13.0703 (13.0703)

72.681 (4.54256)

2.72066 (43.5306)

18.6449 (26.8182)

6.6e+00

= [0 4.1148 © 4.365 13.07]; ]

optimal solution
B 1 4%




KEREEHES

> RERBEDBEIL (4512)
> 1ISBEDEREZRNHD
> 23FEDBMIAHD
> BRERFIBEGMERTHIEEONLSIEXER, hOU—IT—2FKDEY
> IERWMESFE-L, JAMR/INOEGIERNEEZRDO K

> Wz ElREEL TERIEL, CPLEXTHES
> ETILI77A)L[nt.mod][XHBLED T, T—2T7A )l [ntex2.dat]Z1EY fE<



